
6/21 Bolt 5/16 x 5/8 small shallow hex 15-7354 0.90
6/22 Washer, plain, std 5/16 -see accessories page 02-0923
6/23 Bolt, offside, 5/16 x ¾ 02-1934 1.40
6/24 Washer, flat, 5/16 std -see accessories page 02-0923
6/25 Washer, shakeproof, 5/16 36-0382
6/26 Locknut, small hex, stainless 24-0563

02-1616
1.30

“ Locknut supplied in BZP, shallow, small hex 24-0563
02-1616

1.10

6/27 Stay, front mudguard, long stay loop type, GS
Clubman type, chrome

42-6510 21.50

6/28 Std spring washer 5/16 24-8784
6/29 Locknut, small hex, stainless 24-0563

02-1616
1.30

“ Locknut supplied in BZP, shallow, small hex 24-0563
02-1616

1.10

6/30 Washer, spring, std ¼ - see accessories page 02-1462
6/31 Nut, std ¼ -see accessories page 02-2395
6/32 Std nut 5/16 02-0049
6/33 Washer, shakeproof, 5/16 36-0382
6/34 Centre stay (bridge) 42-6511 17.20
6/35 Bolt 5/16 (offside) round head,, 1 1/8 65-6054 1.20
6/36 Stay, front mudguard, long stay loop type, GS

Clubman type, chrome
42-6510 22.00

6/37 ¼ nut std 02-2395
6/38 ¼ spring washer 02-1462
6/39 ¼ flat washer 27-8560
6/40 See number plate section at foot of page
6/41 Insulator 67-6546 N/A
6/42 Front Mudguard, Gold Star type, no tabs, drilled, stainless 42-6509 45.00
6/43 ¼ flat washer 27-8560
6/44 Screw , front stay fixing, ¼, std bolt also available in

stainless.
02-0204 1.20

6/45 Bolt, ¾”, domed (nearside) 03-1156 1.40


